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POLITICAL SCIENCE
Paper - 111
Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Who among the following held the view that political theory was political science in the

full sense and there could be no science without theory. ... so political theory may
legitimately and accurately be used as synonymous with political science ?
(I) Germino (2) Wolin
(3) Crick (4) Hacker
2.  Which of the following is not a reason for the decline of political theory ?
(1) Positivism (2) Moral relativism
(3) Historicism (4) Normativism

3.  Which of the following statement/s is/are not true ?
(a) The term ‘Liberalism’ has been in use since the 14" century.
(b) Liberal ideas resulted from the breakdown of the feudalism in Europe.
(c) Liberals criticised the political and economic privileges of the landed aristocracy.
(d) Liberals are committed to the importance of individual freedom and to the principles

of individualism.
Select the correct answer from the codes given below :
Codes :
(1) (a)and (b) (2) (b)and (c)
(3) (a)only (4) (c)and (d)

4.  Which of the following statement/s is/are not true ?
(a) Post-Marxism denounced the inadequacy of a linear philosophy of history.
(b) Post-Marxism incorporates the theory of market socialism.
(c) There is no difference between classical Marxism and Post-Marxism.
(d) Post-Marxism revolves around a number of direct and indirect critiques of Marxist

intellectual thought.
Select the correct answer from the codes given below :
Codes :
(1) (a) and (b) (2) (b) and (d)
(3)  (c) only (4) (d) only

5. Which of the following statements of John Rawl’s theory of Justice is not true ?
(1) Itis primarily concerned with the issue of distributive justice.
(2) Justice as fairness is a theory designed to apply the ‘basic structure’ — the political,
social and economic institutions of society.
(3) The first principle of justice is equal basic liberty principle.
(4) The one of the conditions of the second principle is indifference principle.

6.  Which one of the following contradictions is not true in case of Lenin ?
(a) Contradictions between labour and capital.
(b) Contradictions between imperialists competing for world markets and raw materials.
(c) Contradictions between illusion and perceptions.
(d) Contradictions between colonial peoples and imperialists.
Select the correct answer from the codes given below :

Codes :
(1) (a) and (b) (2) (c)only
(3) (b) and (d) (4) (a)and (d)
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7.  Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :
Assertion (A) : The ‘Ideal state’ of the Republic was never entertained by Aristotle, even
as an ideal.
Reason (R) : Aristotle’s ideal was always constitutional and never despotic rule.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

8.  Who among the following described Aurobindo as ‘a poet of patriotism, prophet of
nationalism and lover of humanity’ ?
(1) M.N. Roy (2) R.P.Dutt
(3) C.R.Das (4) Vivekananda

9.  For Plato which of the following statement/s is/are not true ?
(@) Communism would destroy the false conception of self as an isolated unit.
(b) Reason, without communism, may remain inactive or may be impaired by appetite.
(c) The union of economic and political power would degrade the state into plutocracy.
(d) Itis for and by the whole community.
Select the correct answer from the codes given below :

Codes :
(1) (a) and (b) (2) (b) and (c)
(3) (b) only (4) (d) only

10. Arrange the following publications of Thomas Hobbes in the chronological order :
(a) De Corpore
(b) De Cive
(c) The Elements of Law
(d) The Leviathan
Select the correct answer from the codes given below :

Codes :
() (a), (b), (), (d) (2) (b, (¢), (d), (a)
(3)  (0), (d), (a), (b) 4) (d), (b), (¢), ()

11. For John Locke which of the following statements are not true ?
(a) The true state must be constitutional.
(b) The state is limited, not absolute.
(c) Revolution ought to be the act of a minority.
(d) Itis also not a “transformer” state.
Select the correct answer from the codes given below :

Codes :
(1) (a) and (b) (2) (b)and (c)
(3) (c)and (d) (4) (a)and (d)
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12. For Rousseau which of the following statements are true ?
(a) General will is my “Real Will”.
(b)  General will is the voice of all for the good of all.
(c) General will is “Group Mind”.
(d) General will is “a common me”.
Select the correct answer from the codes given below :

Codes :
() (a), (b), (c) and (d) (2) (a), (b) and (¢)
(3) (b), (c) and (d) (4) (c)and (d)

13. With which author’s book J.S. Mill’s “Essay on Liberty” is fit to be compared ?
(1) Milton’s Areopagitica (2) Locke’s Essay on Human Understanding
(3) Sir Robert Filmer’s Patriarcha (4) Hobbes’ De Corpore

14. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :
Assertion (A) : Karl Marx was not the first socialist writer of the 19" century.
Reason (R) : The idea of the class war was spread by St. Simon and Guizot.
Codes :
(1) Both (A) and (R) are true and (R) is the right explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the right explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

15. Who of the following said that Gandhi is greater by far than Gandhism and of all our
heroes in recent Indian history, this frail little man was the tallest ?
(1) Hiren Mukherjee (2) Gopal Krishna Gokhale
(3) Madan Mohan Malaviya (4) Jawaharlal Nehru

16. According to Jean Blondel, which of the following are the three phases in the
development of comparative method in the 20" century ?
(a) Legalistic phase
(b) Behaviouralist phase
(c) Neo-institutional phase
(d) New Eclecticism phase
Select the correct answer from the codes given below :

Codes :
(1) (a), (b) and (c) (2)  (b), (c) and (d)
(3) (), (b) and (d) 4) (), (c) and (d)
17. The main impact of the systems theory on the social sciences can be traced to
(1) the 1920s (2) the 1930s
(3) the 1940s (4) the 1950s
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18. Who among the following developed the theory of ‘Communicative Action’ ?
(1) Karl Deutsch (2) Jurgan Habermas
(3) Sydney Verba (4) Daniel Lerner

19. Who among the following holds the view that democratic parties are really oligarchical
structures ?
(I) Robert Michels (2) Robert Dahl
(3) Harold Lasswell (4) C. Wright Mills

20. Which of the following are the constitutional conventions of the British parliamentary
system ?
(A) The ministers are collectively responsible to the House of Commons.
(B) Parliament must be summoned once a year.
(C) Prime Minister must belong to the House of Commons.
(D) Speaker is allowed to continue as Speaker as long as s/he desires.
Select the correct answer from the codes given below :

Codes :
(1) (A) and (D) (2) (A), (B) and (D)
(3)  (A), (C) and (D) 4) (A), (B), (C) and (D)
21. First past-the-post system for elections to the legislature is followed in :
(a) The United States (b) India
(c) The United Kingdom (d) France
Select the correct answer from the codes given below :
Codes :
(1) (a) and (b) (2) (b)and (c)
(3)  (a), (b) and (¢) (4)  (a), (b), (c) and (d)
22. Who among the following supported the ‘configurative approach’ to comparative
politics ?
(A) Gabriel Almond (B) R.G. Neuman
(C) Carter and Herg (D) David Apter
Select the correct answer from the codes given below :
Codes :
(1) (A) and (B) (2)  (B) and(C)
(3) (A), (B) and (C) (4) (C) and (A)
23. Match List — I with List — II by selecting the correct answer from the codes given below :
List -1 List - II
4 (Writers) (Concepts/Ideas)
i (a) Habermas (i)  Communication model
(b) Vilfredo Pareto (ii))  Stages of modernization
(c) © Harold Lasswell (i11) Communicative action
(d) David Apter (iv) Circulation of elites
Codes :

@ (b © (@

(H @ @ (@Gv) ()

(2) Gv) () @) @

(3) @) () () (Gv)

4) @) @Gv) @ (@)
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24. Match List — I with List — IT and select the correct answer from the codes given below :

List - I List — 11
(Authors) (Books)
(a) John Blondel (i)  Nationalism and Social Communication
(b) Almond and Coleman  (ii)  An Introduction to Comparative Government
(c) Karl Deutsch (ii1) The Politics of Modernization
(d) David Apter (iv) The Politics of the Developing Areas

Codes :

@ O (© @
() @y @Gv) @@ (i)
(2) (v) (i) @G) @)
(3) () @) (@Gv) (>
4 @ @Gy @) @)

25. Arrange the following Prime Ministers of Labour Party in chronological order by
choosing the correct order :

(i) Harold Wilson (i) Edward Heath
(iii) John Major (iv) James Callaghan
Codes :

(1) i), (@), (1v), (i) (2) (@), (), (iid), (iv)
(3) (i), (iv), (i), (1) 4) (i), (1), (iv), (iii)

26. Which of the following statements are true regarding Dependency theory ?

(A) Itoriginated in the context of Latin-American countries.

(B) It argues that peripheral countries have been integrated as well as assimilated into the
international capitalist system.

(C) It explains the process of exploitation of the natural resources of the third world by
the advanced nations through MNCs and other means.

(D) It is a neo-colonial-theory that seeks to explain new forms of control and dominance
by the advanced nations.

Choose the correct answer from the codes given below :

Codes :
() (A)and (D) (2) (A)and (C)
(3) (A), (C)and (D) 4) (A, (B),(C) and (D)

27. Which of the following are true about the judicial review ?

(A) Preserving the vertical constitutional balance of authority between the central and
state governments in a federation.

(B) Maintaining and preserving the horizontal balance between executive and legislative
organs of government.

(C) Depending the fundamental human rights and freedoms.

(D) Preventing turmoil and social crises in the larger public interests.

Choose the correct answer from the below :

Codes :
(1) (A), (C)and (D) (2) (B), (C)and (D)
(3) (A), (B)and (C) (4) (C) and (D)
Paper-II1 10 J-02-16
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25. R el ¥ Galed W Gt St S etk 3hH § A Y | Ji9 KT T % 1 v

H

() &oe faoeq
(il) S TSR

&

(1) (i), (i), (iv), (ii)
(3)  (id), (iv), (i), (i)

(i) TsES &Y
(iv) ST HeeT

(2) (@), (i), (iid), (iv)
4 (@), (), (dv), (i)

26. ORI (Ggid % 9§ fEfoiad § 9 i 9 U 9 8 ?

(A)
(B)
(®)

THH! 3T A3 SR 6 T H 3T T |
T T ¢ o IRl TSI et oett et & T S 8 M E |
Ig Tahiaa IR0 R TG HUHE SR ST W o A ¥ A 3 % 39 %
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(D)
TATE |

ET
(1) (A) 3T (D)
(3) (A), (C) 3T (D)

g U 9-3Nufaees fHgia €, S foswtad <9 & e 3R 9= & 90 &1 &1 9uE
=it 5T T e T VAT A §U Wl SO’ Y ;

(2) (A) 3R (C)
4) (A), (B), (C) 3R (D)

27. =g GEIRT % 9N H Etefad § A 9 98 € 2
(A) TH TF H % 3R 5T GIHR & S Gl o I GoreT—eh Feer T IR HT |
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(D) UF SHET § M= 3R THIITP Hehal ol T |

e feu w Tt § 9 HEl ST T TI i
C YA
(1) (A), (C) 3 (D) (2) (B), (C) 3R (D)
(3) (A), (B) 3R (C) (4) (C) 3R (D)
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28. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :

Assertion (A) : In a parliamentary system, a cabinet minister can be dismissed by the
Prime Minister from the council of ministers.

Reason (R) : The president appoints the minister on the advice of the prime minister.
Codes :

(1) Both (A) and (R) are individually true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

29. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :

Assertion (A) : After the World War II, many Afro-Asian nations began as democratic-
republican systems. But very soon they ended up as military dictatorships.

Reason (R) : Most of these nations experienced civil wars due to ethnic, religious and
linguistic diversities which eventually led to their collapse as democracies.

Codes :

(1) Both (A) and (R) are correct, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3) (A) is false, but (R) is correct.

(4) (A) is correct, but (R) is false.

30. Which of the following is true of Jean Blondel’s book “The Presidential Republic”?

(1) It compares the different presidential systems across the globe with particular
emphasis on Latin America, Africa and ex-Soviet Republic.

(2) Studies the successive presidential offices of United States.
(3) Examines the functioning of French presidential system.

(4) It makes a comparative study of military and civilian systems.

31. Among the following, who said in a speech, “Poor people who wander about, find no
work, no wages and starve, whose lives are a continual round of sore affliction and
pinching poverty, cannot be proud of the Constitution or its law”.

(1) Dr. B.R. Ambedkar (2) Jawaharlal Nehru
(3) Dr. K.M. Munshi (4) Dr. S. Radhakrishnan
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E S

(1) (A) 3T (R) 3T T&l € 3R (R), (A) B Tel A & |

(2)  (A) 3T (R) 3FT W&l €, Al (R), (A) I el AR TN € |

(3) (A) 7o &, TR (R) TET T |

(4) (A) Tl g, Al (R) TeAd & |

30. STF soiiee @ g “F SEefemEe Rufsers & el § fefofed § & &9 @1 96 8 0

(1) & Wi ST, TR SR Yo-Tifed Mo W foeiy o1 < gu |yof fava = o=
TeRTTCH ST i T AT ¢ |

(2) 3T & STTIshHh STEALTIH TN T STeIIT HIAT & |
(3) TR TeetIceh SHawT i HIEYUTA! bt Sid Tl & |
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31. Ffefaa 9 @ foram aor | wer o {6 STt TRid @ e T ®@ §, S 15 e wisfus
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(1) = e, s (2) TR Fe&
(3) . Hum. guh (4) T TF. qEFIET
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32. Which of the following statement/s about the Directive Principles of State Policy is/are
correct ? Select the correct answer from the codes given below :
L. The Directive Principles constitute restriction upon state action.
II.  The Directives are not enforceable in the Courts.
III. If any law is made to implement any of the Directives, it would be immune from
unconstitutionality on the ground of contravention of Fundamental Rights conferred
by Article 14 and 19.

Codes :
(1) Only I and II are correct (2) Only II is correct
(3) Only II and III are correct (4) OnlyI and III are correct

33. Regarding a Money Bill, which of the following statement/s is/are true ? Select the correct

answer from the codes given below :

(i) The decision of the Speaker of the House of the People shall be final to decide
whether a Bill is a Money Bill or not.

(i) The decision of the Speaker about a Bill being a Money Bill is open to question only
in a Court of Law.

(i) The decision of the Speaker about a Bill being a Money Bill shall not be open to
question either by the President or even the Parliament.

Codes :
(1)  Only (i) is true (2) Only (i) and (ii) are true.
(3) Only (i) and (iii) are true. (4) (1), (i1) and (iii) are true.

34. Which of the following statements about the institution of the Comptroller and Auditor
General of India is correct ?
(1) The office is a legacy of the British rule.
(2) The office is an innovation of independent India.
(3) CAG has both auditing and accounting functions.
(4) CAG presents its report to Parliament.

35. Identify the correct chronological order of the former Prime Ministers of India :

(1) Charan Singh, Chandra Shekhar, [.LK. Gujral, V.P. Singh

(2) Chandra Shekhar, P.V. Narasimha Rao, H.D. Deve Gowda, [.LK. Gujral

(3) LK. Gujral, H.D. Deve Gowda, A.B. Vajpayee, Rajiv Gandhi

(4) Morarji Desai, Indira Gandhi, Chandra Shekhar, V.P. Singh.

36. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Select the correct answer from the codes given below :

Assertion (A) : The Supreme Court has emerged as that branch of the state to which
citizens are appealing on matters as diverse as the primary school admissions and
environment.

Reason (R) : The breach created by legislative lassitude and executive inertia, has
however generated concerns about the dangers of judicial overreach.

Codes :

(1) Both (A) and (R) are individually true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.
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(3) A (i) AT (iii) TETE | (4) (i), (i) T (iii) T |

34, 9RA ! (9 U6 HeToET TiieTe T % AR H e U @ i 91 e W6 § 2
(1) TR TR TY |
(2) TE U W URA B @S E |
(3) O q e S A M TS h A E |
(4) I TSt o RO 998 § W R |

35. 9RA & Yo WeH U % Wl JUisRT St UEe Y
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(2) ISR, U, RiGET 7, T, JeriET, S, ToRTeT
(3) STEH, TR, TS, Ioier, Tat, Sreio, It et
(4) ARRST 3T, e M, TSy, ad. e

36. e & s few o €, fe & weh o s (A) IR g @ a9 (R) T TR | A fw
e T TN I g el IR gT :
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37.

38.

39.

40.

Match List — I with List — II and identify the correct answer from the codes given below :

List -1 List — II
(Demand for new State) (Existing State)
(a) Mithilanchal (1)  Uttar Pradesh
(b) Coorg (i)  Rajasthan
(c) Purvanchal (iii) Bihar
(d) Maru Pradesh (iv) Karnataka

(v)  West Bengal
Codes :
@ @ (© @
(H @Gy (v @G (@Gv)
(2) (@) (@v) @G @
3 v @O @ (@)
4 @) @Gv) @ (@)

Match List — I with List — II and select the correct answer from the codes given below :

List - I List - I1
(Author) (Publications)

(a) Aseema Sinha (i)  The Puzzle, Eof Indian Dg'mocracy : A Consociational

Interpretation !
(b) Selig Harrison (i)  The Politics of Indi ﬁﬁ‘nce Independence

(c) Arendt Lijphant (iii) The Regional Roots of .Deve'Ibpmental Politics
India 4 A Divided Léviathan

(d) Paul R. Brass (iv) ,Nlndia : The Most Dangerous Decades
Codes :
@ (b (© (@
(H Gv) @@ (@) ()
(2) @) (@Gv) @G @
(3) @) (@) @Gv) @
4 @) @Gv) @ @)

in

Which among the following is not a recommendation of the Dinesh Goswami Committee

for electoral reforms ?

(1) Voting to be made compulsory

(2) Provision of referendum in Constitution on issues of public importance
(3) Rotation of reserved constituencies for Scheduled Caste candidates

(4) Ban on corporate donations to political parties

Which of the following pairs is matched correctly ?
(1)  G.S. Ghurye : ‘Caste Patriotism’ (2) M.N. Srinivas : Silent Revolution
(3) Louis Dumont : Dominant Caste (4) Andre Beteille : Sanskritization

Paper-I11 16

J-02-16

www.examrace.com
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(1) T HI A S S|
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(3) 3T STd o IFEART &q STRMTT Hara & § goH
(4) ST Soil ol SATeETeh UM gRT T T g W) uidqery
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(3) O ST : TSR St (4) 3Ty Sfeet ; HEpasIor
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41. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :
Assertion (A) : Democratic decentralization stimulates increased political participation.
Reason (R) : Democratic decentralization has the capacity to reduce poverty, inequality

and social exclusion.

Codes :
(1) Both (A) and (R) are individually true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.

42.  Which of the following statements about regionalization of Indian politics is/are correct ?

Select the correct answer from the codes given below :

(i) Regionalization of Indian politics refers to the increasing role of regional political
parties in national politics.

(ii)) Regional political parties remain indifferent to national political parties.

(iii) Regional political parties are a challenge to national unity.

(iv) Regional political parties prefer getting financial benefits for their states, in
exchange for political support to the Union Government.

Codes :
(1) (i) and (ii) only (2) (i) only
(3) (ii) and (iv) only (4) (i) and (iv) only

43. Which of the following is/are feature/s of federalization of politics in India ? Select the
correct answer from the codes given below :
(i)  The end of one party dominance (ii) Shrinking of number of political parties
(iii)) Territorialisation of political parties (iv) Growth of multi-party system

Codes :
(1) (i) and (iii) only (2) (i) and (ii) only
(3) (i), (i) and (iii) only (4) (i), (iii) and (iv) only
44. Match List — I with List — IT and select the correct answer from the codes given below :
List -1 List - II
(Authors) (Argument)
/(@) RoblJenkins % (i) Growing political clout of the ‘bullock capitalists’
" (b) Atul Kohli . Y (ii) Interplay between capitalists, rich farmers and the bureaucracy
(c) Rudolphs (i) An all-round crisis of governability
(d). Pranab Bardhan  (iv) Economic reforms by ‘stealth’
Codes :

(@ (b (© (@
() @) @) 3Gv) (@)
(2) @) @ @ @Gv)
(3) Gv) (i) (@) (D)
@ @ (@Gv) () (1)
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45. Which of the following is not an outcome of coalition governments in India ? Consider the
statements and select the correct answer from the codes given below :

I Coalition government has led to federalization of the political system.

II.  Coalition government has made the Parliament more elitist and urban-centric.

III.  Coalition government has weakend the office of the Speaker of Lok Sabha.

IV. Coalition government has made the Parliament more powerful vis a vis the executive.

Codes :
(1) TIandII are correct (2) 1II and III are correct
(3) Tand]IV are correct (4) IIand IV are correct

46. Which one of the following is not a feature of new public management ?
(1) Focus on policy
(2) Cost-cutting
(3) Emphasis on output targets and limited term contracts.
(4) Focus on management.

47. The main focus of Comparative Public Administration is :
(1) Administrative hierarchy (2) Bureaucracy
(3) People-centric administration (4) Leadership styles

48. The expectancy theory of motivation depends upon the employees perception of the
relationship between :

(1) Effort, need and achievement (2) Effort, performance and reward
(3) Desire, performance and incentives (4) Incentives, performance and action

49. Which of the following basic types of organisations is not derived on the basis of the
principle of cui bono or who benefits, formulated by Blau and Scott ?

(1) Mutual benefit association (2) Business concern

(3) Reciprocal monetary benefits (4) Service organisation

50. Who among the following has suggested that the office of the Comptroller and Auditor
General should be abolished ?

(1) Asok Chanda (2) Paul Appleby
(3) K.C. Wheare (4) A.D. Gorwala

51. Leader-Match theory of leadership is more commonly known as :

(1)  Trait theory (2) Situational theory
(3) The Great Man theory (4) Contingency theory
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52. Which among the following terms were added by UNDP to Klitgaard Formula for
corruption, who presented it in the form of an equation — Corruption, Economic Rent,
Discretionary Powers and Accountability (C=R+D - A) ?

(a) Integrity (b) Responsiveness

(c) Transparency (d) Equity

Select the correct answer from the codes given below :

Codes :

(1) (b)and (c) (2) (a)and (c)

(3)  (b) and (d) (4) (a)and (d)

53. Match List — I with List — IT and select the correct answer from the codes given below :
List - I List — II /
(Authors) (Books) {

(a) Thomas L. Friedman (1)  The World is Flat f r
(b) Joseph E. Stiglitz (i1)  In Defence of Globalization
(c) Noam Chomsky (iii) Making Globalization Work v
(d) Jagdish Bhagwati (iv) The Prosperous Few and ghe f

Restless Many., * L {
Codes :
@ (b (¢ (@)
(D Gv) () (i) @)
2 @ @) Gv) ()
@) Gy @ (Gv) (i)
4 Gi) Gv)  G) @)

54. Going beyond Paul Appleby’s advocacy of the virtues of honesty and loyalty in Public
Administration, Stephen Bailey added three more :
(a) Optimism
(b) Courage
(¢) Commitment
(d) Fairness
Select the correct answer from the codes given below :

Codes :
(1) (a), (c) and (d) (2) (b), (c) and (d)
(3) (a), (b)and (¢) 4) (a), (b)and (d)

55. Members of the Lokpal shall be appointed by the President on the recommendation of a
selection committee consisting of :
(a) The Prime Minister
(b) The Speaker of the Lok Sabha
(c) The Leader of Opposition in the Rajya Sabha
(d) The Chief Justice of India or a Judge of the Supreme Court nominated by him
Select the correct answer from the codes given below :

Codes :
(1) (a), (b) and (d) (2) (a), (b)and (c)
(3) (b), (c)and (d) 4) (a), (b), (c) and (d)
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52. WX % TR A JUASH. FRT FAe ®Hen & fow fFfafad § @ & § 93t &1 Sier @
ofT, TSI TR0 - TR, eMiees o, Wioeshia 21 3T STeeeel (C =R + D — A) &

w9 H IR TR o1 2

(a) W= (b) IR (ETI~He-H)

(c) URGRT (d) =T

T T T Fe BT AT HA U T SR G

C TN

(1) (b) 3R (c) 2) (a) 3R (c)

3) (b) 3R (d) @) () 3R (d)

53. g — [ gE — 1 % 91 GATeId Y 3R A ST 7T e 1 TF0T i gT Tel TR 91T :

et -1 = - 11 d
(FE®) (J&Th) f F

(a) 999 T, TigHT () T IS T WA

(b) e fenfeest (i) o feb 3 oleaeseE ¢

(c) =T <Rt (i) AR TAlTATZSRH g% g1 f

(d) STTRIST STar (iv) TUERE FUs T e o

C TN

(=N

@ @ © @
(h  Gv) @) GiD) )
2) () Gi) Gv) (i)
3) ) () Gv) (i)
@ (i) Gv) G @)
54, Uit THCTS ! Ik HOTEA H SHFERT SR far & ui st IRIsRI & UR ST R Selt 7 foh
T 3T T THeT fohar o1 2
(a) IARMER
(b) WEY
(c) WiasRgar
(d) Tomerar
e fST T e T TN F gY Wl SR g :
C YA
(1) (a), (c) 3 (d) 2) (b), (c) FR(d)
3) (a), (b) 3R (c) @ (a), (b) 3R (d)

55. U §RT CAUTCT & WSt i T Ueh =5 AT i STRT UX 3t ST, ™59 8 &
(a) T T
(b) A T 3TeTeT
(c) T | ¥ fouet &1 =@
(d) 9RA T GF =ATETEIRT T 3T FRT T STIas e 3T Teh =TTt

e ST T e T TN I gY T IR G :
C YA
(1) (a), (b) &R (d) (2) (a), (b) 3 ()
(3)  (b), (c) R (d) 4) (a), (b), (c) 3 (d)
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56. Who among the following has said that privatization “promotes greater opportunities for
corruption. Public administrators must resist the market-based concepts of treating citizens
as consumers and degrading them to market commodities” ?

(1) John McMurtry (2) Ali Farazmand
(3) Robert Putnam (4) Larry Diamond

57. A Central Information Commissioner can be removed :
(1) By an order of the Prime Minister of India

(2) By an order of the President of India after the Supreme Court, on a reference to it
made by the President, has on inquiry, reported that he/she may be removed.

(3) By an order of the Central Chief Information Commissioner

(4) By an order of the Chief Justice of India after an inquiry made by a bench of the
Supreme Court confirms that he/she may be removed.

58. 73" Constitutional Amendment Act, under Article 243-B, states that “Panchayats at the
intermediate level may not be constituted in a state having a population not exceeding

2

(1) 10 lakhs (2) 15 lakhs
(3) 20 lakhs (4) 30 lakhs

59. Satish Chandra Committee was appointed to
(1) review in service training of IAS officers
(2) review and evaluate the system of selection to the higher civil services
(3) review the Centre State relations

(4) review the working of the Indian Constitution

60. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select the correct answer from the codes given below :

Assertion (A) : Weberian claim of bureaucracy representing highest extent of rationality
did not fit in with the real-life situation in public administration.

Reason (R) : Rationality maximisation is not what is intended in the actual process of
administering.

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.
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56. TftEd § 9 g el & foF el e & 1 STl i Wedled &l & | ol
TR hl ST & ®G T AN o A FeRR i FTURIN-3MNT T 3T 3% GeIR
SCIRT (PSS & T H YRTEA I BT UARTE AT AMeT ™2

(1) i HeBgfa (2) Il W
(3) T e (4) o TEES

57. 1T TEAT ST Bl ESAT ST Gehell &
(1) 9RA % T4 = & 379 51T |

(2) TgUfd % WY 37 W STIAH el 6 SiE § g8 {UiE {6 ST W {6 STt g S
HehelT €, % &18 YR o ALAMT & S §RT |

(3) ST T AT T & R 5T |

(4) STHOH TECE H TE G H S H T8 g 6 TR gSR ST HHA 5, & 9% ARA &
T T & 3TR9 FNT |

58. ST 243-81 % 3id 739 QA e SufEy H weT T ¢ i R a9 @6t b @
I STEEAT 9 B O Heed! Garadl ol e el [ohaT ST Hehall € 2

() 10 <@ 2) 15"
(3) 20 4) 30E

59. leT <% QAT 1 fha 329F | e oA T o 9
(1) SMETTH, ATHIRAT F FaT WILTeI0T Ht FHIeT
(2) 39 AR QTS % I B WA i FHET 3R Jodieh
(3)  HH-TT TeHT Bl FHET
(4)  9RAHE G i SHRVOTCA! i THiET

60. = 3T FU T T E, SO F UH B SH (A) IR TR B dH (R) FeT T E | A KT
?wmm‘iaaﬁwgﬁ@:

ATMFHIT (A) : THITAAT ! STIAH YT HT AT B el ARl & a1 § deam] g
TN URTEA H Siier ! ardioren feafe & @rer oot el @i & |

& (R) :Wﬁ%aﬁaﬁwquﬁ%ﬁﬁwaﬁaﬂ#ﬂmﬁﬁwm |
&

(1) (A)Wd (R) IHT &l & 3% (R), (A) Ht T&t A€ |

(2) (A) T (R) T TE €, W (R), (A) T T&l A T&l ¢ |

(3) (A)WEE W(R) AT |

(4) (AT g, W(R) W E |
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61.

Match List — I with List — II and select the correct answer from the codes given below :

List -1 List - IT
(Author) (Books)
(a) Jayantanuja Bandyopadhyay (i)  Engaging the World
(b) J.N. Dixit (i) Continuity and Change : India’s Foreign Policy
(c) LK. Gujral (i) Indian Foreign Policy and its Neighbours
(d) Rajan Harshe and K.M. Sethi (iv) The Making of India’s Foreign Policy
Codes :
(@ (b (© @
(H Gy G @H  (>1v)
(2) (@Gv) @) @G) @
(3) Gv) (@) @@ (i)
@ @ @ 3> (@1v)
62. Arrange the following disarmament pacts/treaties in their chronological order :
(i) START I Treaty (i) Conventional Arms Cut Treaty
(iii) Non-proliferation Treaty Extension(iv) Treaty on Strategic Offensive Reduction
Codes :
() G, (@), (), (iv) (2) (), (), (i), (iv)
(3)  (iv), (iib), (i), (1) @ (i), (iv), (i), (1)
63. Match List — I with List — II and select the correct answer from the codes given below :
List - I List - I1
(Author) (Concept)
(a) Ernest Hauss ) 1 P §t-Modernism
(b) John von Neumann and Morgenstein  (ii) d_ic))nstructivism
(c) Alexander Bend B (iii) Game theory
(d) Richard Ashley (iv) Neo-functionalism
Codes :
(@ (b () (@
(1) Gv) i) @@ (i)
(2) (v) (i) (@) (@)
(3) @Gv) (@) (@ (i)
@ @ Gv) (@O (i)
64. The idea of ‘genuine non-alignment’ was advocated by which one of the following ?
(A) NDA Government (1998) (B) LK. Gujral government (1997-1998)
(C) Janata party government (1977) (D) UPA government (2004)
Choose the correct answer :
Codes :
(1) (C) and (D) (2) (B) and (C)
(3) (A) only 4) (C)only
65. 'Who is the propounder of Structural Realism ?
(1) Kenneth Waltz (2) E.H. Cars
(3) Ronald Nebur (4) George Kennan
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61. T — 19 T — [ ¥ T &L a1 A 53 T e § el 3 g

et -1
(Fa)
(a) SIS AT
(b) S, et
(c) 3TEH. TR
(d) T Y AR HUH, 92
&

@ G (© (@
(h Gy @) @ >[Gv)
(2) (@v) (i) 3G) @)
(3) (Gv) @) @ (3G
4 () @G @i (@{v)

it - 11

(F&T)
() T T ges
(i) HEgR UUE o ; UGN BRA Hiferat
(iii) 3T BRA Uil TS T2 HaRd
(iv) T i i Sfogarst ®RA et

62. A e T FIOTEIRRoT el THEil / Wi S HOThHER Sated Y

() I vEm |y

(ili) AH-TTAHRH 21t T

T
(1) (i), (1), (i), (iv)
(3) (i), (1), (iD), (1)

(i) TRERE S Bl Gy
(iv) 2R 31 Rl sithiaa Regwm

2) (@, (i), (iib), (iv)
(4) (i), (iv), (i), (1)

63. @—Iﬁ@—lI%WWﬁWﬁWW?@IHﬁWﬁ:

Tl -1
()
(a) I

(b) ST FF HA 3R AT

(c) ToTRIET o€
(d) R=E e
&

(@ (b () (@
(1) @Gv) (i) 1) (i)
(2)  @Gv) (i) (@) (1)
(3) (Gv) () (@ (i)
@ G v @

(iii)

= - 11
(%W)

)"
gn) oA fﬂ@'lf_vf
| (1V) ECRI DG

64. T ° O v “adforeh Te-FRUSTAT” i ShTerd i ot 2

(A) TAELT WHR (1998)
(C) ST et TR (1977)

(B) 3ME, ToRIeT TR (1997-1998)
(D) FULT THR (2004)

Tt IO HT T HIT

356:

(1) (C) 3R (D) (2) (B) 3R (C)

(3) %A (A) (4) FaA (C)
65. SIS TATIEE I UiaEsh i ¢ ?

(1) oY aTeest (2) TUE FR

(3) TS T (4) St
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66. Match List — I with List — IT and select the correct answer from the codes given below :

List - I List — II
(Disarmament) (Explanation)
(a) Human disarmament (i)  Means abolition of all human and material

instrumentalities of warfare.
(b) Qualitative disarmament (ii) Is a kind of disarmament in which all nations take
part.
(c) General disarmament (iii) Refers to the abolition or reduction of only special
types of armaments.
(d) Total or comprehensive (iv) Refers to limitation or reduction of armed forces.
disarmament P
Codes :
@ @ (© @
(H @ @ @) (@Gv)
2 @ (@) (v) (i)
3 @ (@Gv) (@@ ()
4 Gv) (@) @G) (@)

67. Which of the following are “four Pillars” of green politics ?
(1)  Ecological responsibility, social justice, non-violence and grass root democracy
(2) Ecological responsibility, social justice, non-violence and western democracy
(3) Ecological responsibility, social justice, non-violence and parliamentary democracy
(4) Ecological responsibility, social and economic justice, non-violence and grass root
democracy

68. Which of the following was not included in Boutros Ghali’s “Agenda for Peace” ?

(1) Peace Keeping (2) Peace Settlement
(3) Peace Building (4) Peace Making

69. Which of the following countries was not a member of SEATO ?
(1) Australia (2) New Zealand
(3) Philippines (4) France

70. Which of the following does not promote trade liberalisation ?
(1) Warsaw pact (2) European Union
(3) NAFTA (4) APEC

71.  Which among the following statements are true ? Choose the correct answer from the
below :

(a) During post-1971 period, Indian foreign policy tilted towards Soviet Union.
(b) External security concerns received greater focus.

(c) Threat perception from India’s neighbour increased.

(d) Trade and economic issues were given an impetus.

Codes :
(1) (a) and (b) (2) (), (b)and (c)
(3) (b)and (d) 4) (a), (b), (c) and (d)
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66.

67.

68.

69.

70.

71.

A — [ 1 Gl — 11 ¥ foer s aan 9 i3 T e 9 98t s 9
Tt -1 = - 11
(Frereianzom) (FTETHTTT)

(a) HHT MG () o € o g5 Tramedt gud g F ofifde 3 o

pata i)

(b) TOTCHS FETGIRROT (i) RTEERROT T U W ST Tt e 9T o €
(c) WM TR (ili) U o9 eI & IR =l T 31906 399 Faldl e |
(d) YT 3TaT AU (iv) T& TR AT I a3 S5 FHeldl i J Traiad

[BEHESiEaW g

&<
@ (b © @
(hH @ @Gy (i) (v)
2 @ @Gy @Gv) (i)
3 @ av) @Gy (i)
4 (v) (@) @G) @)
1 4 9 i § “gRa T & a T 8 2
(1) YU SRR, WA =0, SEaT 3R Joret Aihe
(2) TEEUNE SRS, | =1E, AT ST IIe=red e
(3) AT SRS, | =1d, AT A GHaT oAb
(4) TAEUTE SRR, HTHIh & ST =0, STEaT ST JoTet eiehast

1 5 9 &I |1 Sie)d el & “Inied & Usier’ § WiH{ord Tl T ?
(1) O/ Hife (2) d dfcere
(3) i fafeem (4) g BT

1 & W T |1 <97 HiS BT T @l AT 2

(1) Arfer (2) Fetere
(3) Tweld 4) W

i 5 9 $F 91 AR SERIH0T Sl 926 T8l < ?
(1) T queiar (2) I g
(3) WTUTHRAT (4) TdzH

= 9 9 S 9 o Wel € 2 KU T F2 | | Tl I Al 74 B

(a) SW-1971 % HA T YRATT foeer i T gepre Fifaaa T S a7 |
(b) T GR&T Tl IheAl WX e & feam |

(c) WA % TSIE! 39 ot 3R § iR ag e of |

(d) IR T ST qET Bl ATt TS i TS |

C T4

(1) (a) 3R (b) (2) (a), (b) 3R (c)

(3)  (b) 3R (d) @) (), (b), (c) 3 (d)
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72. Which of the following statements is not a part of Nehruvian Foreign Policy towards

Pakistan ?

(1) An adequate defence against aggression is vital.

(2) To use international law and institutions as well as bilateral treaties and agreements
to tie Pakistan down.

(3) To wean Pakistan away from its external backers and supports.

(4) Efforts should be made to sign a Treaty of Peace, Friendship and Co-operation with
Pakistan.

73.  Which of the following statements are correct regarding G-8 ? Select the correct answer
from the codes given below :
(i) It was formally set up in 1975.
(i) Russia had joined it in 1997.
(iii) It considers global economic issues in its summits.
(iv) Now its summits are also attended by China, Brazil, South Africa, India and

Pakistan.
Codes :
() (@, (), (iii) (2) (), (i), (iv)
(3) (), (i), (iv) 4) (), (i), (iib), (iv)

74. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Select the correct answer from the codes given below :

Assertion (A) : The foreign policy of a country is mostly based on ‘national interests’
rather than idealism.

Reason (R) : United States extended support to dictatorial regimes on many occasions as
it suited its ‘national interests’.

Codes :

(1) Both (A) and (R) are correct, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(3) (A) is false, but (R) is correct.
(4) (A) is correct, but (R) is false.

75. Given below are two statements, one labelled as Assertion (A) and the other labelled as

Reason (R). Select the correct answer from the codes given below :

Assertion (A) : Interdependence and flow of information across the world strengthened
the process of globalization which in turn restricted the powers and scope of nation-
state.

Reason (R) : World trade is mostly controlled by the developed nations of the world.

Codes :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).

(3) (A) is false, but (R) is correct.

(4) (A) is correct, but (R) is false.
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72. 991 6 9 B 91 U Tewdr! fG89r Aifd s 9wy 7@ & 2

(1)  3TshAYT o fo6g THiod GUaT Faw Hewyul ¢ |

(2) TIHE 1 &Y W@ % ol e oty o denett & @y fguele atEt g gueidr &
AT AT |

(3) UIRREAT ol 3HF WRISRT I THAHT T I T&T |

(4) ORI & @ T, U5 o WEANT i A A o WA BT |

73. S -8 F T T W B Y R W ?
(i)  Siu=TRer €9 9 THH T 1975 § g3 |
(i) &9 1997 ¥ 399 WA gaTl |
(iii) I& 1o ToreR TeeHT § Sfvash 3N Jel o) forar FRar € |
(iv) IHH T9T | 39 fIE Tl 9 =, Sei, €. TR, YRA d Tkt |l 9 o € |
&
() (@, (), (iii) (2) (), (i), (iv)
(3) (), (i), (iv) @ (), (i), (iii), (iv)

74, 9T FeE KT T €, SO T U @ M (A) SR 38 I G (R) w1 Y | 9 {u
% Y TEl W AT
ATBET (A) : T ) R =i T et W T o SeviEns T e g i
T (R) : 34F ORI W G T SRR % AR e S T e it 7w
3T T Tl & SFFHA T |
&
(1) (A) 3R (R) 3T T € 3T (R), (A) B el TEHT |
(2) (A) 3R (R) IHI T &, W (R), (A) T Fel TH0T Tl & |
(3) (A)TIE T (R) ITAE |
4)  (A) 8 & R (R) FAE |

75. 51 e f5F T €, FEE @ ue ot iR (A) 3R G i 9% (R) FeT T Y | J fgr e
F T TEl W AT
AHUT (A) : THI07 fored § ST T ST o TR A SYATHIT 3t FishaT i et
FATAT & AT SHh Torea ey LIS i Ifekar o & WiHd gg € |
% (R) : fova =R O W fHsaa Tt 5 R ¥
&<
(1) (A) 3R (R) 31 T € 3T (R), (A) H el TR |
(2)  (A) 3R (R) IH T &, W (R), (A) T Fel TEHT Tl & |
(3) (A)TFE T (R) STAE |
@) (A) I & R (R) TAE |
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